Jojeuipioo) Joing YEN 4noA yum Ajsejiwis ‘saoynj *sioiny JnoA yium uonediunwwod Aem om] aseajd ‘siaquiaw sse|)

HOYVIN 6¢ —Avaldd dO05D —AVAIT0H JIN9Nnd

wooy Jandwo)| - |z |ST 1 duor yen €C|9T| 6| C duor yen guoryeN| 00°ZT-000T
|leH uleiN| - |¢c¢ |ST T duepaur €C|9T| 6| C Sduepaul duepaur] 0€'1T-006
[1°g ST duiyolempuig 9T suiyolempuig 6T duiyolempuig ‘wrepe’s
Aepui4
wooy aJowsuoT| 8¢ qn|d %004| 6¢ qn|d oo9g gqn|poog| 0€'¢T -0€0T
wooy aJowsuoT T¢ uy [44 8 uy WY 0€C¢T-0€'6
[leH UlelNl| 8C | TC | VT sse|pasIeX3| 6¢ | ¢C (ST | 8 | T Sse|) 9s1949x3 S¢ | 8T Sse|) 9s1249x3 S¥'8-00'8
[00d |IPUN0)| 8¢ | TC | 1T salqoJay enby| 67 | ZZ [ST| 8 | T $21qoJay enby S¢ sa1qoJay enby S¥'8-00'8
Aepsiny)
wooy aJowsduo]| £z | 0T | €T leygpueyend| 8¢ | 1e |v1| L 1eyD pue yedf TE 1eyp pue yeu 00 -00'¢
|[EH UIBIN| LT €T slieq| 8¢ i sueq| T¢ sueq 0€'C—-00'T
wooy Jandwod| £z [0z [€T SwupelN psed| 8z | TZ (VT | £ 3unje|n pJed| 1€ supjeN pJed 00°¢T -0€°'6
[leH UIBINI| LT | OC | €T s|mog Joopuj| 8¢ | T¢ |¥T| L S|mog Joopujl 1€ | ¢ s|mog Joopu| 0€'TT-0€'6
winasn|A yJed Jsauoldf L | 0C | €T spRININI 8¢ | TC | VT | L S[=IMIN s[=3IMmIN 00°¢T-00'6
Aepsaupa
wooy aJowduoT 6T 1y |eJol4 0¢ Uy |eJold4 Hv |eJol4 00'€-00'T
wooy aJowsduo]| 97 (4 3unlM aAneal)| L €1 3unlm aaneasd| o€ sunlm aapeas)|  0€C¢T-00°TT
wooy aJowsuo| 9z | 6T | CT SpJe]| Lz | 0C |€ET| 9 spJed| o€ spJed 00°¢T-00'6
Aepsan})
wooy Jamndwod| 67 | 8T | TT 3uoryen| 9z | 6T [CT| S suor ye| 6¢ 3uor ye 007 -00'C
|leH ulelN| S¢ | 8T |TT sluua] s|qel| 9¢ | 6T [CT| S Sluua]l 9|qel| 6¢ siuua] s|qel 00't-00'¢
wooy aJowduoi| sz dnoug uapieo| 9g dnoug uapien dnoug uspien| Q€'TT-000T
wooy alowduoT ST Supjewssauq 61 Supjewssauqg Supjewssauqg 0€'IT-0€6
|00d [1PUN0D| ST | 8T | TT sa1qoJay enby| 97 | 6T | CT | S $2lqoJay enby| 6¢ $21qoJay enby S'8-00'8
wy aJowduo Si1w sapniwwo) S Siw sapniwwo) 81w s/ Iwwo) 00°0T
uone’o sajeq _ Ananoy sajeq Ainnoy sajeq Ainnoy Aepuopy

HOYVIN AdvNY4g34 AYVNNVT

F19V13IAILL 3SHNOI INO Y31 720¢




